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OPTION-A
‘( Analytical Clinical Biochemistry )
" Paper : CHE-SE-4014 .

o | o L )
1. Answer the following questions: 1x4

(a) - What is Glycemic Index?
- oizmhie i e |
(b) Name one sulphur containing amino
... -acid. ‘ .
werR o9t Gy afi afbes T e

(c) Whiéh part of our body synthesize and
" secrete HDL ?

S *9SE (PIN0eE wsiE HDL RCHT I

AR ™R |
(d) What is Hemostasis ? -
aEhs &0
| i uestions in brief:
2. Answer the following q | ol
TN 2T B0 el fumt 8 ~

() What are triglycerides? What is the
alarming level of triglycerides in our

blood ? |
BRI & 2 Wit covre 2R Remaie
W Ry |

. 3(Sem-qcécslcnnss1/2/3/4;5/6/6 2

~ (b) What is the role of Insulin’ hormone
in our body ? Which part of our body
produces this hormone ?

SRR X199 TR TS SR R o
(PAC! G 3 Ry Besty 22 |

(c) Mention the basic diSsimilarities in
structure between DNA and RNA. - 4
T8.47.9 91 WI19.97.9 3 W17 %t A R

REAPIPTR S 791 |

3. Answer the following questions : (any two)
, : . Sx2=10
O PRS- O fant 2 (Ricser o) .

(@) What do you mean by Epimer? Is
fructose an epimer of glucose ? Give
examples of three €pimeric pairs of
glucose with their individua] structure.

: 1+1+3=5

P I & qE Fre gwe 2o
[ @R gee R @R 3P Trgad
e 2R R Bie Wi )

(b)) What is denaturation of protein ? How

it" occur? Explain . the factors
_ responsible for it to cause. - 1+1+3=5

T Rgfomad fre 3 e w05 2 29 a1
AT PR T B |
3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/6 3 | Contd.




(é) What are nucleosides and nucleotides ?

- structures.

i n example of each with their
Give an P ) e

| ORI ui FURTBRGRE R5? e

@ |
" Give an example of lipids carrying those

3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/G 4

4% Twre Bied o157 BICe ToE
Name the two fundamental ‘building
blocks’ of lipids. Write their structures.

building blocks along with its structure.

. . 2+2+1=S '
RIS 31 RIS S W TR R
T I ST 3 | e T e T

o1 R 3oomg w1 uRy Tifre at et
iy PR s1ovR e Twigad wife |

4. - Answer auy' three of the following

C questions:'- |

. o R b e T fra 3
(@) What is enzyme? -

Gy 2

Define the following terms :
T Wﬁ{a ke feal o

(i) Isoenzyme (IR iz
(i) Apoenzyme (4°'GaiEN)

(i) Holoenzyme (%7'qi3)

10x3=30

(b)

(c)

3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/G° 5

Mention the seven classes of enzymes
and briefly describe the type of reaction
they catalyse. Give suitable éxample_ of
each class. 1+3+6=10

S IR GRITE TR T w1 o
ST o e 1 R

L 2o (TR oS Trieel Wi 4a

Discuss in detail about classification
of Protein by giving suitable examples
of each class. _

GoE ST e o4 e TR R
Baicicicin kT :
Explain “The central dogma of

molécular genetics.”
‘i G Resma coeta sream” e gt
Aall - '

What is Glycolysis ? Explain bri'eﬂy the
various steps involved in glycolysis.

- Write down the overall reaction of

glycolysis. 1+9=10

AR MR 2 aE izl wre v Rfow

BPTRIRY! F | 2ife =13 AR Rz
IR T |
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| (e). Describe hdvir human blood is classified ' A o OPTION-B

according to the ABO system. How the (Green Metho ds -i'n Chemistry)
.donor-acceptor compatlblhty is istry

determined based upon this c Paper : CHE- SE—4024
classification ? Explain.

: . 1. . Answer the following questlons - 1x4=4
'-.ABOWWWWCWW A S PP T T -
m;fw ? @%ﬁ;ﬁ%ﬁi 1. (@ Fill in the blank:
‘.gggmwl o - R s | |
1 “ Write short notes on: - 2%x4=10 . - % Atom economy = ——* 100
' : | %R ERRE = x100 |
T Lo | The full form of CFC is . .

) Structure of proteln ~(Fill in the blank)

- 2o sﬁm ' | | CFC 7 syl ?nﬂzﬁr e
() HDL and LDL - e | (?f/a‘?? 373 999 W)
- @R ‘m'«ﬂﬁ.ﬁo‘sﬂa | o .(C) . grf:f ‘Sil;i g:inffn;trzrgi al;;z;i in the
- (i) Blood bilirubin o | | orife e R m 31131%35 |
cm ﬁﬁﬁoﬁﬂ Rl R [ B . "
(iv) Mephamsm of enzyme action ] (@) Mmama’ga disease was found as __
AR e ofy - f - poison.ing. . (Fill in the blank)
4 : ' | ﬁ'ﬂNﬁT @ Rtk V] 2@'
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2. Answer the following questions : | 2x3=6
(a) What is called ‘pei‘centage yield’ ? Above
which percentage, a particular reaction

is considered to have a good ‘percentage
yield’? - .

. | W%aonm wmw&m i
R el ese AR ot R Rt

A =2
t“ (b) Deﬁne Regioselectivity.. Give example

| @Wmﬁf-ﬁaﬁ\w%ﬂanﬁm

A (c) What do you mean by green solvents ? .

i ~ Give example.
I
!

,quﬁmﬁquqﬁw

O] AT Reeat 75y e fo o

| " © (a) What are the goals of- green chemistry ?
l‘ - Mention the obstacles in pursuit of the
1 goals in green chemistry.

| | mﬁmwﬂw%%vmm
- o TR SRR (FaS 2 1z e 341 |

3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/G 8

BIoT MO TeANR TSR R T oty

3. Answer any two questlons o 5x2=10.

(b) Write a note on green ‘synthesis of .
ibuprofen with chemical reactions.

Wﬁasﬁﬁwmwﬁqmm%eww
85O @t (Bt ot |-

() Mention with example about the ultra,
sound-assisted chemical reaction.

ST SR TRl Wﬁ—wmﬁasﬁ%m
WWWI

(d) erte a note on demgmng a green
. synthe31s

m%wmct <O 7 ﬁwzma 8IS B
GrRe BT

4. Answer any three questiens,: .10><3=3O
(a) Write the pnnc1ples of green chermstry
Write suitable examples of any four

principles. 6+4=10
PIS TS %orvnmsgq foir | Riciea 51135y
TR Borge Swieaet ﬁzm
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(b)

(c)

(@)

What are Biomimetic, Combinatorial

‘green chemistry and sustainable

development ? How green chemistry can
play a vital role in' sustainable
development ? Explain. 2+2+2+4=10
A fce, fife cfvw Fes o <z
T 2 TR TAEe (RIS (TS PR

%m@wﬁ*ﬁaﬁaﬁmawvm?amn
3=

‘What are -prcssure-treated wood ? Why
. .is the use of chromium and arsenic |
" restricted in this field ? 4+6=10

‘b BT o B wicghe o GRS

IR 1 @& cws fmy =1 tarme

Write notes on the following important |
- applications of green chemistry in our |

day-to- day life: .. 3+4+3=10

N S A @B wsie (G BT S

(i) Dry cleaning of clothes

- PR g e

' (ii) Versatile Bleaching : agent

AfE {2 g
(iii) Analgesic Drugs
A 33y i

3 {Sem-4/CBCS) CHE SE 1/2/3/4/5/6/G 10

(e) D1scuss the use of antlfoulant in the

field of environmentally safe water
transportation.

ﬁﬁ@%mﬁmwﬂﬁwwm‘

' aﬁﬁmﬁmwﬁ@mwwn

What are' microwave - ass1sted
reactions ?° Why . microwaves are
considered as a more efficient source -
of heatmg? What are the three
categories of microwave assisted organic
synthesm ? Explain with examples:

’ 1+2+1+2+2+2=10.

TRFEST TS KB Ry IR 2
ReEe R @Fimna—v?r@m Be 3fe

21 1 28 ? RGPS I TS 0o SRR

: ca«?tfﬁ‘mﬁ%?%mwmwn
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OPTION-C . ,
( Pharmaceutical Chemistry)
. Paper : CHE-SE-4034

1. Choose the correct option : o Ix4=4
7 TEI0! e 31 ¢ o

(@) Which of the following statements best
describes a lead compound?

OO (P! BT TG (19 A Teei 3
TRm?

i) A compound that contams the -

element lead -

R et @ ot

(i) A compound from the research
laboratory that is chosen to go
- forward for preclinical and chmcal '

~ trials

9Nl SRR #ia1 CoIRT B} ol B

ﬁ%ﬁmm@ﬁmmmwwﬁ
A AR v 2w

(iii) A molecule that. shows some |

activity or property of interest and- ,
SErves as the starting point for the {

development of a drug

'.-3(Sem-4/CBCS)CHESE1/2/3/4/5/6/(} 12

G 9ol 5 ey @maﬂwvtar'w »
cw{awm@wﬁwawwﬁaﬁq
f2sicel 3w @ |

4(iv) The first compound of a structural -

class of compounds to reach the :
market '

TG COIRY @0 oIS e e st

(b) Which of the followmg terms is used to
: describe a drug that has the same effect

on a receptor as-the endogenous
chemical messenger ?

WWWW?@WW
ASR (AT @awiw?a‘m CPINCH! *7
me? -

(i) Agomst
Qa8 |
(i) Antagonist )
aBerfE . e
(i) Partial agonist
RS e
(iv) Inverse agonist .
oS @i
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() Which of the following statements best
describes retrosynthe31s ?

o o SReE @W%Waﬁ'.

fbﬁtﬁ?

()

e (i)

- (i)

'The reaction cond1t10ns requlred 1.
to convert the product of a reaction |
back to the original starting

materials

RIRFaIaITS ofi<ks = Rizraretst wotaRe

. I e Ridre org)

A strategy used to design. a
synthesis of a target molecule by
workmg back from the target. to

simple startmg materials

T R S R el w9
T SR O e oRter

m@‘m

The design of a synthetic scheme |
using cheap, traditional reagents, |
rather than expensive modern

reagents

TRE T R sifiqrs sigil, |
RIS R g 3R ez o

e

3 (Sem-4/CBCS) CHE S8 1/2/3/}1/5/6/(; 14

(iv) The design of reaction conamons_
- such that an equilibrium reaction

is pushed towards the products
rather than the startmg materials
RFTR RER fSwizn =1 qMCe
<! SIPy RfdFne Rivms siRacs
RiFmrore Amde o o e

{d) Wthh enzyme is used to hydrolyse
. starch to maltose to manufacture
ethanol by fermentation? .-

BT R e IR MW o R e
IR AT oS R CRICB! TSI TR
R lIEUR:
i) Dlastas‘e
SIS
(i) Mpha-amjlaée. ‘
| | TR
.(iii) Lipase
sTiReeier
" (iv) Beta-amylase

- Ro-awizgTe

3 {Sem-4/CBCS) CHE SE 1/2/3/4/5/6/G 15
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W 93g SE ]|
Answer any two questlons from the
following : . 5x2=10
o) [t gErem a1 frat s

. A'nswer’ the follbwing questions : 2x3=6
- oo Rl e T i
(a) Define chemotherapeutlc index and

‘therapeutic index.

m’cﬂalfww % camﬁl%\%w

et ft |

What do you mean by pharmacokinetic
phase and pharmacodynamic phase ?

PRiTPREADS WWWWW
= B i ‘

Write down the chemical structure of
L-ascorbic acid. Mention its 1mportance

~ for human -beings.

L R PR 4851 B | T 1

(@ () What are NSAIDs') Give ar21

example.

(b)) Write the chemical structure of

ibuprofen and identify the chiral centre.
Which isomer of ibuprofen is
found to be active as a drug? Write

. the steps 1nvolved in the synthesis of

ibuprofen? © 1+1+3=5

w@ﬁwwﬂﬁ%mﬁﬂaﬁ@amm@
| AT (TN IR NT 3T Bpie)

A wiRge e wive Rimrng

TR =

(¢ () Name one.species ‘each from the

-following microorganism class
which is capable of fermenting -
sugar to citric acid: 1.5

‘Yeast, Fungi and .Bacteria ‘
e WG (TR ol it e
el R &= e R Bﬁ@?ﬁ 6w
TesAa IR oM 8

iﬁﬁﬁm@zﬁﬁm

(i) Name the three processes adopted
~ for the commercial production of

FIRIEZT Ry ch o 5 citric ‘acid. 1.5
(i) Explain the ‘meaning of the ter® | Hi2e «fber il Sestimg i@ eyl
| ﬁpmdmg uSIng an example. 3 | A O e A Bt
i | 3(Sem-4/CBCS) CHE SE 1/2/3/4/5/6/G 17 ~ Contd.
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What is a vitamin? Give one
-example of each water-soluble and

water-insoluble vitamin. Name the

different structural components
present in vitamin B12. Write the
name of two. bacterial strains used
for industrial production of vitamin
B12 by fermentation. Write the
name of a disease that occurs due
to the deficiency of vitamin B12.

: 1+1+1+1+1=5

R fo? A afgs e Afe
iy bR @it i fra
fenifam Ry 3o 4t R shafiere Seimig

AW T | R R ROIRR Ry s Soafe.

BeAIETS AR 1 751 AU ereon
mﬁm%ﬁﬁaﬁb{awmaﬁ
91 [ oy : \

(i) In the industrial preparation - of

ethanol by- fermentation—

ot e e aefos—

(A) what is the Starting material -

and what Percentage of sugar

does'it contain? 2
| ﬁ/&w R o 2re R i
N A A

3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/6 20 -

@ @

i)

(B) name- two ~microorgéni_sms
- ‘that can carry out the

fermentation. 1
Rt e o141 77 e = ot

(C) what is the optimum pH
range for the process ? 1

- AfEFNGR AR ST pH R
o 2 < |
(D) why is addition .of oxygen:
necessary although the process .
is anaerobic ? . 1

15 B R eicareTi e

- Write the. structure activity
relationship (SAR) of penicillin
analogues. : S

CARBRR e 19w PRl e
(9=gIR) o

What is leprosy ? Write Athe name
and structure of an anti-leprosy

drug and propose a synthesis for it.
1+1+3=5

3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/c 21 Contd.
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b e 7 At AR Bt B

T A N T IR O AT G

B S

Write the structure of antiviral
drug acyclovir and ‘outline its mode
of action. - ' ' 1+4=5

€ 0
i)
0

B a1 e R vt et < |

What are benzodiazepines ? What -

is the trade name of the drug
diazepam ? Propose a synthetic
pathway for drug diazepam.
1+1+3=5
NS GIRTERN SN 8T
TP T e Ritrareg T o
ISR ST B 2l i |
Draw . the

heterocyclic rings present in its

. Structure. Mention the steps

involved in the synthesis of

cephalosporin C by fermentation. -

Mention one advantage and one€
disadvantage of 1st generation
cephalosporing over penicillins.

: 1+1+4+2=8

3"(Sem-4/CBCS) CHE SE 23451610 22

, structure  of
‘cephalosporin C. Name the two

(@

3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/G 23

CRERA B9 15 s ) B

NS TAFS 4 W1 cgBebIE Res
T ) R R ceererRg £
FREITR 1S G MTsP=io7e Brzr 31 |
'cﬁﬁfﬁ%mﬁsa%'mw%m'

R W B SRt S ) -

Draw the structure of vitamin B,.

"What is its function ? | 2,

%ﬁﬁﬂﬁﬁﬁﬁ@@@flmm%?‘
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OPTION-D
(Chemistry of Cosmetics and Perfumes)
Paper : CHE— SE-4044
i. Answer the followmg questlons from below :
1x4=4
ot il TR Tes ol ¢
(i)‘ ,Which of the following chemicals is

used as ﬂavounng agent'?

o (FICE! IR cﬁrﬂaﬂ%m@ﬁw"f

TR @
() A(_:etonyl acetone.
- afoBTRa «fSoq
(b) Qxybehzene
SRR -
(c) Tita}nium oxide

(d) Oct;izole

' oy |

3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/G 24

(i)

Hydroalcoholic solution includes

| W EET w Ry

(iii)

(a) nail polish remover
@R AT SR
(b) aftersave
SITIRS
(c) hair oil
(d) bath oil
M- Com i

Oil in water emulsions are used in

vnﬁﬁ—c—c«:wmwm

(@) hair conditioner

GRS R

(b) sun screen

59 NS

(c) diaper"'rash cream
TR ({5 PIvS

(d) vitamins

3 (Sem=4/CBCS) CHE SE 1/2/3/4/5/6/G 25 Contd.




fiv) - Body odoﬁr develo ps as a result of (ii) Write two side effects of the use of hair
secretion. from . ' | o :
| WW?WWWWWWI |
& (.?P"F@ﬁ "Ni E)] ﬁ"ﬁ"ﬁ AR A 'Tf'_“r - (i) - Write two differences, of talcom powder
N ? - E . - ‘and face powder. '
. ) “skin | | Wmﬁmw—mm@wwﬁ
. - | . oM o
' v » . 3. Answer any two questions from the following :
(b) muscle R R 5x2=10
S ' | | ) What are the 1dea1 chractenstlcs of -
“ (c) apocrine gland S , ~ointments ?" Write .one advantage and
| | ' ‘ | disadvantage of ointment. 3+2=5
QT (ol | one |
S | | WWWWWIW&W?@& |
o '(d) sweat ’ _ ' % o1 SfRa ot -
| e (i) What are the main ingrediants of cold
(‘ - | S : _ | ‘ cream ? Write briefly about the
- S I ' ' ' reparation of cold cream. ©2+3=5
1 2. Answer the following questions from below : i
| | low : ~ a’%zﬁmwﬁmﬁﬁs?a’@@ﬁa
. - 2x3=6 - oEeReR REw e
L L "a—w © faal PRI Teg %m g 4 ' ' B (iii) What is antlpersplrant ? How they act ?
J (). Write any four functions of cosmetics. | eI sHewl R o “ma eI
‘, ~ ﬁmmﬁmmﬁwwﬁm T S | | L o R
.' : i 3 Sem-4/CBCS) CHE SE 1/2/3/4/5/8/6 27 Contd.
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(iv) What is suntan lotion ? Mention three
- uses of suntan lotion. - 2+3=5

B0 e 2 T oD IR SE |

Answer -any‘;three questions from the
following : - - 10%3=30

Wﬁmwﬁmmﬁﬁmwm

() Explain the term cosmetics. What are

the various categorles to classify
cosmetics ? L 2+8=10

.mmqﬁm%@viﬂﬁméﬁﬁwﬁﬁa
SPIPTE Y 77| ~

(i) Write two importances of each one of
the following : ' 29x5=10 -

| R SRR {1 ATl St 9 3

(a) Civetone
. oferw
(b) Eu_calyptus oil
RO Com
(c) Rose oil
G (o=
(d) Sandalwood oj]
(BLITCG (wo
_ (e) Eugenol

oo

3 (Sem-4/CBCS) CHE SE 1/2/3/4/5(6/G 28

- ({ii) Give the method of prepération of

shampoo. How can you differentiate
between hair remover and. nail polish -
remover ? B S5+5=10

Wﬁwaﬁmﬁwlgﬁwm
mw'ﬁﬁswwwmﬁqﬁsﬁw

(iv) What are the best sources of geraniol ?
What method is adopted for its
extraction ? Discuss its uses.

2+é+2*6
Rriferera @aas@ argfos Tt fre e

W‘RW%%WWW'@?W
I} ToE 2

Write the fwo cosmetic uses of each

| 2+2=4
(@) Oil in water emulsion
(b) Water in oil emuléion
(@ =M o o
(b) (STS AR, R D AT 5
TR foa |

... (Sem-4/CBCS) CHE SE 1 /2}3/4/5/6/6 29 ‘ | -Contd.




(v) Write in short about the following : ’ _ OPTION-E
3% . 5+5=10 | | ; ( Pesticide Chemistry )
weTe GrEd 91 R eoae 5 fordl ¢ { _ _ Paper : CHE-SE-4054
(@) Cosmetic -Safety : i j 1. Answer the following questions: 1x4=4
CHIECRERIRI . B o7 Al eeiEIeE B i g '
(b) Advantages/contr‘ibutions _Of \ - (a) Write the name of a plant which is used
colouring agents in cosmetics [ as insecticide.
preparation ! '
: A oA 251 =z V)it
Al AT TS IGT T | _ﬁm S O TR
a | (b) What is the trade name of Benzene
ﬁﬁ_ / ‘*’bi _[ ; Hexachloride (BHC) ?
(vi) (a) Write briefly about the actions of | = : ;
cold cream, vanishing cream and f Pl (BHC) 3eiieg At 2
. shaving cream. . 2x3=6 ,‘ (c) Define the term Rodenticide.
:T’?/‘ﬁg, (ST} S o1 (o | , e e
- ; BW e 1 (d) What is Bordeaux mixture ?
(b) Write briefly about hair waving and e et
hair straightening agents. 4 ' A R B0
ul =i 2 |
Ejm B ﬁg% Tﬁﬁ?ﬁ BISER 2. Answer the following questions : 2x3=6
(a) What is a bio-pesticide ? Give an
; | example. ; '
o oI 5 2 @B Swizadt |

Contd.

3 3m-410%C9 OB S50 30 | | 3(Sem-4/cBS) CHE SE 1/2/34/5/6/G 31




(b) To which chemical class of insecticides
does DDT belong ? Name another
insecticide that belongs to that same
class. '

- R oA e Sl s ?
PR O TR e i @Bt S AW
(s , ,
(c) Draw the structure and I[UPAC name of
: alachlor. S

| FR N0 S ] S B w3 B N @
EWM| S .

‘Answer the folloWir»ig‘questions;: (any two)
‘ 3 - 5x2=10
oS Pl e S e s (R gny)
(a) Write a short note on Malathion.
R @S o 5y (vt e |

'(b) Write down the chemical structure of
gammaxene. It is glgo. known as HCH,

elaborate on thig : .
acro 0
uses of it, "ym. Mention fw

3 (Sem-4/CBCS) CHE SE 112131415066 32

() Draw the chemical structure of
butachlor. To which' chemical class -
does this insecticide belong ? Briefly
describe the chemical synthesis of .
butachlor. . 1+1+3=5

- [IFR IPNEE o O 79 | 93 Do
(I IS (AT oS 2 Jol°T PR
- IReER KA a9 = 1 |
(d) What ‘are natural and synthetic
~ pesticides ? Give examples of each class.
Mention two advantages of natural
pesticides over synthetic pesticides.

: 2+142=5
AT o1 T S B 2 st (e
oIt Tiget Wt | Ja $IWP‘W\9 a@F—w

 FoAMT 70! ARG S wA |

4.  Answer the following questions : (any-three)
o 10x3=30

ot fAal eicaRe Bed fat ¢ (Rizetear fofasy)

(a) Give an example of Quinone pesticide.
Draw its structure and mention [UPAC
name. Discuss briefly the synthesis,
properties and uses of it. 1+2+7=10

Contd.
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()

(c)

R/

(e)

T S G 1 Grreet &m o S

391 W% [UPAC I S 91 | 3311 2ef, o

Discuss the merits and demerits of

: pest1c1des -

AW@qWWWWI

Discuss briefly the synthe31s, uses and
harmful effects of DDT.

& G ha oS, WWWWW
Priedeic ik T

Write bneﬂy on the classification of

- pesticides (based on the target organism)

citing suitable examples of each class.

R! R B e i Pibair
mﬁﬁﬂ%ﬂ?ﬁﬂm(wﬁaqewﬁﬁ-aﬁ)
LS o

(i) What is Folido] ? Draw its chemical
structure. 2

| $W%?WWWW&WWI
(i) Outline two m
features of organ
other 1nsect1c1de

ajor distinctive -
ophosphates from
classes. 2

3 (Sem-4/CBes) CHE SE 1/2/3/4/5/6/6 35

' (ifi) What are agricultural pest101de$ ?-

Mention the name and useés of two
« agncultural pesticides.  2+4=6

RS FHomrRrE e 767 hwrs
ﬁaﬁmmwﬁmwﬁw

() Whatare carbamates ?"Propo_se one

. .method of synthesis for both
- carbofuran and carbaryl. Mention
two major disadvantages of these
carbamate insecticides. 1+4+2=7

mmﬁmaﬁw mwwwﬁa
AN AT A BT oA B

ferat | 92 FIRACE FIBAFRITT 75 eI
@ﬁfﬁ&i@(mWI

(ii) Discuss the symptoms observed on

carbofuran p01son1ng _ 3
aﬁ’ﬁﬂﬁamaw mﬁmm
ﬁm I w |
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OPTION-F
( Fuel Chemistry)
‘Paper : CHE-SE-4064

1x4=4

Answer the following. questions :

were e Oeq foar s |

(@) What is the composition of water gas ?
E'F (I IS WIS e |

(b) - Write the percentage compositions ‘of
gases present in CNG. ‘

CNG'S 9! (TeIes *fosa 3o frat |

(c) What is the advantage of alcohol-
blended petrol ? '

T e (e R R
(d) Name one solid lubricant. .

4B (Ao PHfBeTaRRm i By

Answer the following :

et TARRE Sew By g

(@) What do you mean by non-renewable.

energy ?
TP sl AR I & game
(b) What is coal-liquifaction 7
TR SRR Rk
() What are the

2x3=6

3.

Answer any two of the following questioris :
- - : - 5x2=10
(@) What do you mean by lubricants ? How
lubricants are classified? Give
examples of each class.  1+3+1=5

.(b) What is Naphtha ? Write the products

obtained when Naphthas are allowed
to undergo steam pyrolysis? .1+4=5
@A N [F? (FAF IS TAGAS o7
- Besls (R AR R o

() What are the compositions of producer
gas ? Between producer gas and water
gas which one has more calorific value ?
Why is producer gas used immediately

"after its production? What are the
advantages of natural gas?
- ' 1+1+1+2=5
fSS5IR (I WYf© o1 2AfSTHR (o Wi
el (Rd WEO (PINEH 'R T @fRe
fSTHIR (% SeoiH (R el =10l 33T Ry
R A A 2 AFfeF (o R4 [T Bee

(d) Write . the petroleum fractions pf. the
products obtained duripg ref.inm.g. of
crude petroleum. Also write their boiling

es and uses of each fraction.
rang | aes

Contd.
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HREIRS (5 RelRfes Tors Serty @l

(/0 What are the functions and

G o711, IS ot sifor vt
vwﬂﬁca¢e:a@ﬁﬁﬁsm§ﬂaﬁﬁ%ml -

Answer any three of the following

process. What are the advantages and
dxsadvantages of coal gasification ?

2+4+2+2=10 -

AR IR T 2 et (orareerd ofwlef
P 1T iz Bt | e (IR R
I SHRAEE By .

characteristics of lubricants ? What is
viscosity . index and what does ‘it
indicate ? What are additives  in

. lubricants ? Name some additives to -

- (d)

questions : - 10x3=30 ° ] R
. . : improve the lubrication in oils.
T il Rl R e St B 3 e T aeaeaea-io
(@) What do you mean by coal gasification ? iR i @i e e ﬁ?ﬁfl
Write the flowchart of coal gasification TRPETRRT Tl 5 ﬁ; oIF 2 & fom
fnca 2 foifbeerelRa 8ol I5RT AR it TR

e (/NN IR Q@SS )

What do you mean by renewable and
non-renewable energy sources ? Write
about solar energy, advantages of using
solar energy and also write
disadvantages of it. What is geothermal

!'!. | (b) What is cracking of petroleum ? Writé energy ? o 4+4+2=10
( ~ the products of thermag] decomposition TPIEACIIY S Sy e e &
l ~of n-Butane. Draw the flowchart of @ ? crieifes Raw o o Wﬁﬁ*ﬂ

Fixed bed catalytic Cracking. What are
‘the advantages of catalytic cracking ?

| O SRR et | et A W e

What is biogas ? Write the compositions

(e) ‘ !
| SR 2+2+4+2=10 of biogas. What is biomethanation ?
'~f o WQW%W?WW Write on biodiesel and transesteri-
) Eﬁ.;:::;w FETS Sesiy (RA! Gesmarars o7l | fication reaction as well as ﬂowchart

O g RIS biodiesel production. |
o g of bt h 2+2+1+2+1+2=10

W@‘ﬁﬁmmaﬁwml
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IR [ e AR WIS v | I WATT=
e AW Rreer Raw &l (GoaBiRices
- e fera wanm’f@twaﬁawmﬁa
' "W WI -
o 6. 'Define octane number of a fuel

- .How a vehicle select a good quahty
fuel for use. 2

Wmﬁsvaﬂawmﬂa“ﬁw

9L T TS BAG FE?

(i) What are the basic compositions |

of crude oil? Mention the basic
principle behind i'ts refining

process. : 2
SRR (oeTe eTes f A @ (o
ARCAIE TR 1 o T A1 -

" (iii) How are cloud .point and power

point of a 1ubr1cant measured ?
2+2=4
, ﬁ%@wwmﬁﬁwmﬁm
: I (@i Fef =1 e

(iv) Write your short comments on
' ‘future of - renewable energy 1n
India’. !

Wﬂwﬂm%ww '

FoiFe (SR 53 oS fa |

3 Sem-4/CBCS| CHE SE L2/3/4/5/6/G 40 - - 3200

_'—,




